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1 % +H I & 19884F
10 : GRAPH 500 : RETUKN
600 : GRAPH
: GLCURSOR (10, 0) : SORGN .
20: G SOR ( ) 610 : GLCURSOR (10, 0) : SORGN
30: COLOR 3 620 : COLOR 3
40: LINE {0, 0) — (200, 0} — (190, —10) ~ 630 : LINE (0, 0) — ( 200, 0) ~ (190, —10)
(200, 0)— (190, 10) : LPRINT “X” — (200, 0)— (190, —10) : LPRINT “X”
: 1 ; — — —( —
50 : LINE (0, —70) — (0, 130) — ( —10, 640 1-421;‘1)’:(((1'0 17300>) ((01'01310)) (Llfg,NT
120) — (0, 130) — (10, 120) : ’ » 120) : LPRI
LPRINT "Y* 642 : GLCURSOR ( —10, —10)
52 : GLCURSOR ( —10, —10) 646 : LPRINT “O"
56 : LPRINT “O* 650 : FOR =0 TO 2
_ 660 : X1=0:X2=X14+0.2
60:FOR 1=0 TO 3 670 :READ A, B, C, D, E
70 : X1=0: X2=X1-+0.2 650 : GOSUB 800
$0: READ A, B, G D 690 : NEXT I
90 : GOSOB 200 700 : DATA 1.0515, 1.0315, 44.69, 90, 0.2
100 : NEXT I 710 : DATA 0.5728, 0.5984 58.04, 73.5, 0
‘ 720 : DATA 0.345, 0.348, 77.35, 82.0, 0.4
150 : END 260 : END .
170 : DATA 0.5728, 0.5984, 58.04, 73.5 819 : [F I-=1 THEN 830
180 : DATA 0.929, 0.97, 58.04, 73.5. 820:Y1- A%EXP( —0.2%X1) +B*EXP
190 : DATA 1.2928, 1.4336, 36.44, 64.8 (—E#X1) *SIN(C*X1-D)
200 : FOR I=1 TO 80 830:Y2=A%EXP( —0.2%X2) +B*EXP
210: Y1=A—-B*EXP ( —0.3%X1) *SIN (~E*Xz) *SIN(C*X2-D)
(CxX1+D) 840 : GOTO 900
220:Y2=A-B*EXP( —0.3%X2) *SIN 850 : Yi=A—B* EXP( —0.3%X1) *SIN
(C%xX2+D) o (C%X1+D)
230:P=12.5 860 : Y2=A—B*EXP ( —0.3%X2) *SIN
240 : COLOR I (CxX24+D)
250 : LINE ( Xg1#*DP, Y1%70) — ( X2%P, 900 : P=12.5
Y2*70) 910 : COLOR- I
260 : X1=X1+0.2:X2 -X210-2 920: LINE ( X1%P, Y1*70) — ( X2xP,
270 : NEXT I Y2%70)
280 : IF 1<<>0 TIIEN 300 930 : X1==-X1+40.2 : X2 -X2+0.2
290 : GLCURSOR ( 5, 10) 940 : NEXT I
295 : LPRINT “PB=0, KC=0.16" : GOTO 500 950 : 1IF 1<>0 THEN 960
300 : IF 1<> 1 THEN 330 952 : GLCURSOR (5. 50)
310 : GLCURSOR~ (5, 30) 956 : LPRINT "PB=32, TI=5, N=6.05"
320 : LPRINT “PB=2, KC=0.08" : GOTO 500 960 : 1F JC<> 1 THEN 970
962 : GLCURSOR (5, 30)
30 : IF THEN 400 '
301 I:<> 2 . 966 : LPRINT “PB=120, N=6.35" : GOTO 999
350 : GLCURSOR ( 5, 55) 976 - GLCURSOR (5, 10)
360 : LPRINT “PB=20, KC=0.08" : GOTO 975 : LPRINT “PB--10, T1-=35"
500 968 : COLOR 3
400 : GLCURSOR ( 5, 80) 967 : GLCURSOR (5, —15)
: L “ =0.2, IN=6.7"
410 : LPRINT “PB=50, KC=0.016" 960 : LPRINT “TD=0.2, 9N =6.7

990 : RETURN
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TO ANALOGIZE CHEMICAL. PROCESS
CONTROI SYSTEM WITH PC—1500 COMPUTER

_ Yu De qian, Xu jio

( Chemical engigeering dipartment )
Adstract

This article mainly introduces drawing method of out put response

curve of chemical process coutrol system with PC-——1500 60rhputer.
Because calculation speed of PC——1500 computer is slow, if we

expect PC-—-—1500 computer to draw curve rapidly, we have to use
the method wkich this article introduces, '
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